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KNEUS SCHOLASTICAPTITUDE TEST

Students kindly go through the syllabus given and prepare accordingly.

The questions given in this booklet are sample questions. These questions need nof
appear in the test.

The answer key is given at the end

Both Part A and B are to be attempted compulsorily

SYLLABUS OUTLINE
PART - A Objective Type (General Studies)

. English

o Mathematics

. Science

. Social Studies

. General Knowledge

PART - B (Subjective Type)
. Paragraph Writing
PART A
ENGLISH

SYLLABUS
1.  Noun and its forms
2. Pronouns
3. Verbs
4.  Adjectives
5. Adverbs
6.  Preposition
7. Conjunctions
8.  Interjections
9.  Synonyms
Fill in the blanks with suitable nouns :
Ao of sheep is Grazing.
(a) bought (b) crowd
(c) flock (d) set
................... is the hardest substance.
(@ Gold (b) silver
(c) plastic (d) diamond
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10.

11.

12.

13.

14.

15.

A group of sailors...................

bunch
herd
noun.
Material
Pronoun

beautiful
Childhood

dozens of oranges
All of these

Brass
Silver

Army
Crew

Sides
Street

Common

(@) jury (b)
(c) crew (d)
Ramesh is a good singer here "Good" isa
(a) Abstract (b)
(c) Common (d)
Ram’s................... was appreciated by all.

(a) humiity (b)
(c) Intelligent (d)
Which of the following expression is right.

(a) pair of sandles (b)
(c) group of polices (d)
............ is a synthetic material.

(a) Plastic (b)
(¢) Gold (d)
A group of Adjudicators :

(@) Jury (b)
(c) Team (d)
Every............ in this book has a beautiful moral.
(a) Story (b)
(c) Painting (d)
Gender of ‘Mare’ is............

(a) Neuter (b)
(c) Feminine (d)

Masculine

Fill in the blanks with suitable pronouns given below :

..................... Mother is a teacher

(c) 1

I don’t know why they visit............
(a) her

(c) he

............ is the man who sells balloons.

(a) this
(c) these

(b)
(d)

(b)
(d)

(b)
(d)

(b)
(d)

(b)
(d)

[31]

His
He

me
they

They

she

they

those



16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

Vaishali often talks to............

(a) herself (b) himself
(c) themselves (d) yourself

I absented .................... from the class

(a) myself (b) herself

(c) yourself (d) themselves
............ is the latest movie

(a) This (b) What

(c) Those (d) These
That is a rare book............ my grandfather bought.

(a) that (b) whom

(c) whose (d) what
.................... is coming with me ?

(@) What (b) Who

(c) Whose (d) Which
Tick the verb/verb form in the following sentences

My mother.................... a new sari.

(a) has (b) have

(c) will have (d) none of these
The girl .....ccoevnnnene. singing

(@ i (b) were

(c) had (d) have been
I am going to office; Here 'GOING" is @ ....cccveeevvennnneen.

(a) Verb (b) Adverb
(c) Adjectives (d) Noun

If "Ramesh" is a Noun then Dancing is a .....................

(a) Adverb (b) Noun

(¢) Verb (d) Pronoun
The owls.................... at night.

(a) screech (b) scream
(c) hoot (d) none of these

Fill in the blanks with suitable Adjectives which is given below :

Swimming is a.................... exercise.

(a) naughty (b) healthy
(c) temporary (d) glorious
Jawaharlal Nehru was a .................... Visionary

(a) Large (b) Healthy
(¢) Great (d) Big
Pizzaisa.................... dish.

(a) delicous (b) sour
(c) hot (d) rich
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29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

New York is a.................... city.

(a) broad (b) large

(c) small (d) educated
The Taj Mahal is a.................... monument.

(a) Mythological (b) Historical
(c) Geological (d) Geographical
Amitabh Bachchan is the.................... actor.

(a) nice (b) magnificient
(c) best (d) superfast
The white swan is a.................... bird.

(a) new (b) wise

(c) graceful (d) strong

I drank the.................... jug of milk.

(a) whole (b) some

(c) little (d) much

It is foolish to waste money, but it iS.................... to save it.
(a) proud (b) innocent

(c) wise (d) kind

The opposite of the .................... person is a guilty one.

(a) mnocent (b) unfriendly
(c) comedy (d) proud

Choose the Appropriate adverbs/forms to complete the following :

The train will arrive....................

(a) safely (b)
(c) suddenly (d)
Tick the sentences which has adverbs of place :
(a) The boys are going outdoor to play.  (b)
(c) we must get up early. (d)
Tick the sentences which has Adverbs of Manner.
(a) They spend their money foolishly. (b)
(c) That day he came in late. (d)
The storm blew....................

(a) terribly (b)
(c) loudly (d)

[51]

shortly

never

She rarely meets me.

She speaks quietly.

We crossed the Street Safely.
All of these

violently

everywhere



40.

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

51.

52.

The good children behave....................

well

probably

quickly

on time

bravely
badly

forward
here

monthly
yearly

totally
quickly

an
by

since
beside

beside
from

by
before

on
by

later
between

by

(a) terribly (b)
(c) whole heartedly (d)
He spoke....................

(a) loudly (b)
(c) wrongly (d)
The Marathas Fought ......................

(a) cruely (b)
(c) wisely (d)
The car jerked....................

(a) outside (b)
(c) there (d)
She ....coveenee. rejected his proposal

(a) strongly (b)
(c) fully (d
I know the details. ....................

(a) completely (b)
(c) nearly (d)
Fill in the blanks with appropriate prepositions.
I have been ill.................... two weeks.

(a) for (b)
(c) within (d)
I have not seen him.................... last month.
(a) from (b)
(c) before (d)
He worked.................... morning to evening.
(a) between (b)
() on (d)
I have three other shirts.................... this one.
(a) then (b)
(c) after (d)
Hesat.................... a sofa

(a) within (b)
) m (d
He returned to Delhi.................... a week.

(a) after (b)
(c) since (d)
I shall be here.................... two days.

(a) from (b)
(c) at (d

within



53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

The students quarreled.................... themselves.

(a) among (b) by
(c) at (d) since
The police was attacked.................... the mob.

(@) with (b) by
(c) into (d) before
To kill two birds.................... one stone.

(a) with (b) into
(¢) on (d) at

Fill in the blanks with suitable conjunctions.

We had bread.................... butter for breakfast.

(a) but (b) and

(c) as (d) therefore
He broke his teeth ................ playing

(a) stil (b) while

(c) and (d) elsewhere
I heard.................... your elder brother is in Kolkata.

(@) ll (b) that

(c) when d i

You will pass.................... you work hard.

(a) when (b)y ff

(c) before (d) et

Do your home work.................... I shall punish you.

(a) or (b) but

(c) and (d) et

Read the following sentences and insert suitable interjections.

.................... ! That hurts!

(a) What (b) Bravo

(¢) Ouch (d) Alas
.................... ! We have won the match.

(a) Hurrah (b) Alas

(c) Oh (d) Bravo
.................... ! What a beautiful flower.

(a) Oh (b) Ouch

(c¢) Hurrah (d) None of these
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64.

65.

66.

67.

68.

69.

70.

(a) Hurrah (b) Ouch
(c) Alas (d) Bravo
.................... ! You did very well.

(a) Bravo (b) Alas
(c) Oh (d) Hurrah

Find out synonyms for the words in capital letters

Raman could not purchase the shirt because of INADEQUATE funds.

(a) nsufficient (b) adequate
(c) little (d) enough
Simran’s DELIGHT knew no bounds on seeming her new doll.
(a) happy (b) sorrow
(© Jjoy (d) smile
MAY BE, I will visit you tomorrow.

(a) depends (b) perhaps
(c) surely (d) definitely
It is NECESSARY to take a bath everyday.

(a) essential (b) desirable
(c) good (d) useful
Many of my relatives are settled ABROAD.

(a) locally (b) outside
(c) exported (d) overseas

ANSWER - KEY

C 2. d 3. C 4. a 5. a 6.

a 9. a 10. c 11. b 12. b 13.
a 16. a 17. a 18. a 19. a 20.
a 23 a 24, c 25. c 26. b 217.
b 30. b 31. C 32. c 33. a 34.
b 37. a 38. a 39. b 40. b 41.
b 44, a 45. a 46. a 47. b 48.
h s1 a 52 d 52 a 54, b 55,
b 58. b 59. b 60 a 61. C 62.
C 65. a 66. a 67 C 68. b 69

[81]
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SYLLABUS
1. Numbers
2. Computation Operations
3. Roman Numerals
4.  Fractions
5. Decimals
6.  Money
7. Time
8. Measurement
9.  Geometry
10. Perimeter and Area
11.  Pictorial Representation
12. Patterns
Lo is the successor of 49999
(a) 49998 (b) 4998
(c) 5000 (d) 50000
2. Which of the number has the different place values of 4 in the following numbers ?
(a) 24421 (b) 27194
(c) 75436 (d) 23407
3. How many whole numbers, each less than 47, are there is Hindu-Arabic System of numeration :
(a) 45 (b) 46
(c) 47 (d) 48
4. lecrore= ......ccoennnn.
(a) 1 million (b) 1 billion
(c) 10 million (d) 5 million
5. The greatest 6 digit even number, with all digits different is............
(@) 986754 (b) 987654
(c) 987645 (d) 978654
6. How many different three digit numbers can be formed using digits 6, 5 and 7 only once ?
(@ 3 (b)y 4
() 5 d 6
7. 97 thousands 4 tens is equal to...............
(@ 974 (b) 9740
(c) 97040 (d) 974000

MATHEMATICS

[91]



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

How many 20 rupee notes Navya gets for Rs. 6160.

(@) 308 (b) 3010

(c) 3080 (d) 3800

There are 150 clips in a packet. How many clips are there in 275 packets ?
(a) 412550 (b) 41250

(c) 41350 (d) 41500

51734 — i = 1 more than 50 thousands :

(@) 50001 (b) 11733

(c) 31733 (d) 1733

What is the value of :

29 — 28 +27 —26 +25 -24 +23 —-22 + 21 -20

(@) 245 (b) 120

(© 5 d 1

What number must be subtracted from 19030 to get 7450

(@) 11580 (b) 11680

(c) 10580 (d) 11480

The Unit’s digit in the product (274 x 318 + 577 x 313) is...c.euennnnn..
(@ 2 (b)y 3

(c) 4 d 5

In which number sentence does 6 in the box Makes the equation true ?
() 146 + =8 (b) 40 + =8

(c) 32+ =8 (d 48 + =8

Roman Numeral for the least 4 digit number is............

(@ L by C

(¢ D d M

84 LXXIV

(@ > (b) <

(c) = (d) None of these

The ascending order of XXI, XXXIV, VII, XIV is :

() VI, XIV, XXI, XXXIV (b)
(€) XXXIV, XXI, XIV, VI ()
XL — oo = XXXVI

(@) VI (b)
(c) V (d
The Roman number for 99 is :

(@ IC (b)
(c) ILL (d

[10 ]

VII, XXI, XI, XXXIV
VII, XXI, XTIV, XXIV

VI
v

XCIX
All of these



20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

Which of the following is meaning less ?

(@ XX (b) IVV
(c) VII d X
How many X symbols are needed to represent the sum 27 + 12 = 39 in the Roman System ?
(@ 3 (b)
(c) 6 (d
Which of the following is equal to 1 ?
(@ 1/3 (b) 4/8
(c) 6/3 d) 5/5
3Zwritten as an Improper fraction is...............
(@) 15/4 (b) 6/4
(c) 3/12 (d) 3+%
6 out of 9 eggs are bad what fraction of the 9 eggs are bad ?
(@ 1/9 (b) 1/6
(c) 3/4 d 273
3/8 —Vaisequal to ..................
(@ 18 (b) 2/4
(c) 1/4 d) 3/8
One of the fractions does not belong to this set :
6/9, 2/3, 14/21, 10/5
Which one is it ?
@@ 6/9 (b) 2/3
(c) 14/21 (d) 10/5
Which of the following is equal to §+ 1% ?
@ 1541 ® Sty
4 8 2 4
(c) 042 @ 1+
8 8
How many one-fifths make one ?
(@ 15 b)) 1
() 5 d 4
Which of the following is wrong ?
(@ 5/10 =0.5 by % =05
(c) 1/5=02 d 3/4=07

[11]



30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

How many tenths are there in 11/5 ?

(a) 5 tenths (b)
(c) 2% tenths (d)
Which of the following is correct............

(@ 2/9 =32 (b)
(c) 3/4=0.38 (d)
3.56 correct to the nearest whole number is.......
(@ 3 (b)
(¢) 5 (d
5046 — 04 = ..............

(@) 49.1 (b)
(c) 46.46 (d)
Which number is same as %4 ?

(@ 0.14 (b)
c) 1.4 (d)
40 + 9/10 + 0 + 8/1000 = .................

(@) 40.908 (b)
(c) 40.98 (d)

The total cost of 15 apples at Rs. 5 per apple and 6 oranges at Rs. 2.50 per orange

(@) Rs. 80 (b) Rs. 90

(c) Rs. 125 (d) Rs. 150

Divya has Rs. 20 she spent 2/5 of her money. What amount of money is left ?
(@ Rs. 3/5 (b) Rs. 19/35

(c) Rs. 8 (d Rs. 12

How may 25 paise coins are in Rs. 100 :

(a) 4 (b) 40

(c) 400 (d) 100

The unit of currency in India is...............

(a) Rupaih (b) Money

(c) Paise (d) Rupee

If the cost of 1 Chocolate is Rs. 20, how many chocolates can I get for Rs. 120 with the free
offer ?

(@ 6 (b)y 8

(c) 10 d 12

The Time between 12 midnight an 12 noon is called :

(@) AM (by PM

(c) midnight (d) day

[12]

2 x 5 tenths

20 tenths

1/2 =103

5/10 = 0.5

49.96
50.06

0.25
4.1

40.0908
40.980

OFFER : Buy 3 chocolates
and get one chocalate free.




42.

43.

44,

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

240 minutes is same as..............

(a) 6 hours (b) 3 hours

(c) 4 hours (d) 5 hours
When it is a quarter past the hour, the minute hand has covered......... minutes.
(@ 3 (b) 15

(c) 30 (d) 45

The time now is 5:40 AM. Half an hour ago the time was............
(@) 6:10 AM (b) 5:00 AM
(c) 6:00 AM (d 5:10 AM
PM means :

(a) Post Medium (b) Post Moon
(c) Post Meridian (d) None

How many days were there in the month of February, 2008 ?
(a) 28 days (b) 29 days

(c) 30 days (d) 31 days
The month with neither 31 days nor 30 days is :

(a) February (b) April

(c) November (d) December
The number of weeks in 154 days are :

(@) 28 (b) 22

(c) 24 (d 23

Which year is a leap year ?

(@) 1994 (b) 2004

(c) 1997 (d) 2003

The standard unit for measuring length is :

(a) Centimeter (b) Meter

(c) Kilometer (d) Hectometer
Which unit of length is not lower than metre ?

(a) Decimetre (b) Centimetre
(c) Millimetre (d) Decametre
In 1 metre, there are........... cm

(@ 1 (b) 10

(c) 100 (d) 1000

A piece of string is 50 cm long. Another piece is 85 cm long. Their total length is................ cm.
(@ 30 (b) 35

(c) 130 (d 135
3km40m=.............

(@ 340 m (b) 3040 m

(c) 3400 m (d) 30400 m

[13 ]



55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

3 x 4 m is the same as...............

120 cm
1200 cm

Milligram
None of these

1400 g
2 kg

1 kg = 800 g + 200 g
1 kg 300 g = 1300 g

1000
10000

Kilograms
Metres

mfinite length
None of these

Infinite length
All of these

Wire stretched between two poles
Sheet of paper

square

circle

(@ 12 cm (b)
(c) 400 cm (d)
The standard unit to measure mass is.............
(a) Kilogram (b)
(c) Gram (d)
Which one of the following is the heaviest ?

(@ 1 kg300g (b)
(c) 900 g (d
Which one of the following is wrong ?

(@ 300 g=3kg (b)
(c) 1kg=1000 g (d)
9[ ] 1000 g= 9 k. The missing sign in the [ | is :
(@ + (b)
(c) X (d
In 1 ton, there are........kg.

(@) 100 (b)
(c) 500 (d)
We measure the weight of a cow in............
(a) grams (b)
(c) litres (d)
A line has...........

(a) fixed length (b)
(c) length (d)
A point has............

(a) Zero length (b)
(c) 1 mm length (d)
Identify the examples of point :

(a) Location of cities on a map (b)
(c) Floor of a room (d)
It has no end points :

(a) Line segment (b)
(c) Ray (d
A figure bounded by three line segments is called a.........
(a) rectangle (b)
(c) triangle (d)

[14 ]



67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

The perimeter of a circle is called its.
(a) Area (b) Circumference
(c) Diameter (d) None of these

Count the number of triangle in the figure :
(@ 6 (b) 8 % g
(¢ 10 d 12

How many line segments are needed to make alphabet M ?
(@ 2 (b) 3

(c) 4 d 5

Which could be one of the faces of a cube ?

a) Q (b)
©) @ A

How many faces does the figure shown have ?
@@ 3 (b) 4
© 5 d 6

What shape is obtained on rotating a right-angled triangle about its shortest side ?

(a) Circle (b) Cone
(c) Cylinder (d) Sphere
Which of the following letters is not symmetrical ?

() E (b) T
(© U (d) L

The radius of a circle is 8 cm. What will be the length of its diameter ?

(@ 10 cm (b) 12 cm

(c) 14 cm (d 16 cm

On joining the four points P, Q, R, S in the given figure, the number of line segments obtained
) (R

(@) 4 ® 6 F .

(c) 8 (d 10 o R

In the rectangle ABCD, ...............

(a) AB is parallel to BC (b) AD is parallel to DC P

(c) CB is parallel to DA (d) DC is parallel to CB

[15]



77. The perimeter of a triangle is the sum of the length of its............. sides.

(@) 2 (b 3

(c) 4 d 5
78. Perimeter of a triangle having sides a, b and c is :

(a) abc (b) a+ bc

(c) 2 abc (d a+b+c
79. The perimeter of a square field whose side is 8 m is :

(@ 16 m (b) 32 m

(c) 24 m (d 20m
80. SQUARE is a rectangle whose :

(a) all sides are equal (b) two sides are equal

(c) three sides are equal (d) None of these

ANSWER - KEY

1. d 2. a 3. C 4. C 5. b 6. d 7. C
8. a 9. b 10. d 11. C 12. a 13. b 4. d
15. d 16. a 17. a 18. d 19. b 20 b 21. b
22. d 23. a 24, d 25. a 26. d 27. d 28. ¢
29. d 30 ¢ 31. d 32. b 33.  d 34. b 35. a
36. b 37. d 38. ¢ 39. d 40. b 41. a 42. ¢
43. b 44. d 45. ¢ 46. b 47. a 48. b 49. b
50. b 51. d 52. ¢ 53. d 54. b 55. d 56. a
57. d 58. a 59. ¢ 60. b 6l. b 62. b 63. a
64. a 65. b 66. ¢ 67. b 68. b 69. ¢ 70. b
71. d 72. b 73. d 74. d 75. b 76. ¢ 77. b
78. d 79. b 80. a

[16 ]



SCIENCE

SYLLABUS
1. Non living and Living things
2.  Plant Life
3.  Animal Life
4.  Food and Nutrition
5. The Human Body
6.  Water
7.  Matter
8. Soail
9.  The Earth and The Universe
I. Sunlightisa........................ thing.
(a) Natural living (b) Attificial living
(c) Natural non-living (d) Non-living
2. Which of these is not a living thing ?
(a) Mushroom (b) Paper
(c) Amoeba (d) Tapeworm
3. Living thing breath out..........
(a) Oxygen (b) Hydrogen
(c) Carbon dioxide (d) Nitrogen
4.  Special tube through which insects breath are called............
(a) Gib (b) Stomata
(¢) Lungs (d) Trachea
5. Animals are called............
(a) Producers (b) Consumers
(c) Decomposers (d) None of these
6. Food chain refers to the transfer of........
(a) Water (b) Air
(c) Food (d) Soil
7. Desert plants have................. instead of leaves.
(a) Spines (b) Tiny flowers
(c) Longer stems (d) Clumpy roots
8. Animals that live on land are called............. animals.
(a) Aerial (b) Arboreal
(c) Terrestrial (d) Desert

9. I am a plant that floats on water. My flowers are very beautiful and admired by all. My leaves
have a waxy coat who am I?
(a) Prickly pear (b) Lotus
(c) Venus flytrap (d) Duckweed

[17 ]



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

I am an amphibian. I live in both water and on land. I lay my eggs in water. My baby looks
very different from me. Who am I ?

(a) Sea Lion (b) Crocodile

(¢) Frog (d) Allgator

The stem transports............. to all parts of the plant.

(a) Food (b) Water

(c) Minerals (d) Al of these
From where do plants get their energy ?

(a) Sunlight (b) Food

(c) Water (d) oxygen
The................ of a plant contain a green pigment called chlorophyll.
(a) Stem (b) Roots

(c) Leaves (d) Fruits

The green colour in the plant is ........

(a) Chlorophyll (b) Lamina

(¢) Stomata (d) Petiole

Food produced by plants is a kind of.......

(a) Salt (b) Sugar

(c) Fat (d) Protein

The word "Photo" in photosynthesis means .

(a) Sem (b) Energy

(c) Food (d) Light

A plant makes its food during............

(a) The night (b) The day only
(c) Day and Night (d) Moming only

Why do ripe fruit taste sweet ?

(a) They grow on sweet plants. (b) Sugar is added to it by farmers.

(c) The glucose produced by plants is stored in them

(d) Bees pollinate them and make them sweet.

Select the one that plants need more

(a) Helium (b) Hydrogen

(c) Carbon dioxide (d) Oxygen

Which of these statements is true ?

(a) The plant needs only chlorophyll to make its food.

(b) The plant does need water to make its food.

(c) The ingredient that a plant need to make its own good are water, carbon dioxide, chloro-
phyll and sunlight.

(d) The plants need water, oxygen and chlorophyll to make its food.

Which of the following animals is not boneless ?

(a) Star fish (b) Snake

(c) Lobster (d) Snail

[18 ]



22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

Which of the following does not have canines ?

(a) Herbivores (b) Carnivores

(c) Omnivores (d) All of these

Of the following which animals have no teeth ?

(a) Camels (b) Horse

(c) Elephant (d) Honey bees

The front part of the birds trunk is called its........

(a) Breast (b) Feathers

(c) Wings (d) Back

A cow is to a herbivore as vulture is to a............

(a) Carnivore (b) Omnivore

(¢) Scanvenger (d) Parasite
Mammals...............

(a) Give birth to their young ones (b) Give milk to their young ones.
(c) Are warm blooded (d) All of the above
A tadpole is also known as..................

(a) Nymph (b) Pupa

(c) Caterpillar (d) Frogfish

Which animal shows parental care for its young ones ?

(a) Lion (b) Frog

(c) Butterfly (d) Lizard
The............ of birds are changed into wings.

(a) Tails (b) Ears

(c) Hinds limbs (d) Fore limbs

I am very venomous, the deadliest. I swallow my prey. I slither. I have no backbone. Who am
I?

(a) Mongoose (b) King Cobra

(c) Crocodile (d) Allgator

Food is important to the body because.........
(a) It provides the body with energy

(b) It provides material which keeps the body in good health.

(c) It helps build new cells for growth and repair
(d) All of these
What gives rise to deficiency diseases in our body

tissue.

?
Lack of vitamins
Lack of carbohydrates

Iron
Todine

Iron

(a) Lack of protiens (b)

(c) Lack of fats (d)
................ helps to maintain our body temperature.
(a) Water (b)

(c) Calcium (d)
Which of the following is not a mineral?

(a) Calcium (b)

(c) Vitamins A (d)

[19]
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36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

47.

How many types of vitamins are there ?

(@ 6 (b)y 5

(c) 7 d 4

What helps the body to repair the cuts, wounds or injuries ?

(a) Fats (b) Carbohydrates
(c) Proteins (d) Vitamins
Sunlight is the abundant source of.................

(a) Vitamin A (b) Vitamin D

(c) Vitamin B (d) Vitamin E
Which of the following is not a rich source of proteins ?

(a) Eggs (b) Meat

(c) Pulses (d) Rice
Carbohydrates contain.......

(a) Glucose (b) Lactose

(c) Starch (d) All of these
Deficiency of iron can result in...............

(a) Rickets (b) Anemia

(c) Obesity (d) Cholera
Select the odd one out

(a) Anemia (b) Night Blindness
(c) Brittle bones (d) Malaria

Vitamins and minerals :

(a) Can be obtained from nuts, green vegetables and fruits.
(b) Are required in very large quantities

(c) Help in protecting the body

(d) Are an essential part of our diet.

Which of the following is not an organ of the human body?

(a) Stomach (b) Heart

(c) Blood (d) Kidney

The process of digestion begins in the :

(a) Stomach (b) Small intestine
(c) Liver (d) Mouth

Which system of the body gives in its shape ?

(a) Respiratory system (b) Skeletal system
(c) Nervous system (d) Digestive System
Which part of the body pumps blood to all parts of the body ?
(a) Heart (b) Lungs

(c) Kidneys (d) Veins

How many teeth does a human adult normally have ?

(@ 16 (b) 20

(c) 28 d 32
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55.

56.

57.

58.

59.

60.

Our heart is made of special kinds of.............

(a) Bones (b)
(c) Tissues (d)
The hardest structure in the human body is........
(a) Enamel (b)
(c) Skull (d)
We should get a dental check up done once in...
(a) A month (b)
(c) Every six month (d)

Saliva helps us to..............

Every 3 month
A year

(@) Chew the food properly (b) Softens the food and helps in digestion
(c) Makes the food tastier (d) A and B both
Choose the odd one out

(a) Sweat (b) Urine

(c) Carbon dioxide (d) Oxygen
............... and..............are visible forms of water vapour

(a) Mist (b) Water

(c) Fog (d) both a and ¢
Hot water vapour is............

(a) Mist (b) Steam

(c) Snow (d) Fog

Indentify the best method of removal of impurities :

(a) Sedimentation (b) Filtration

(c) Distillation (d) Purification
Water which is drinkable is called.......... water.

(a) Potable (b) Clean

(c) Purified (d) Bottled

We must.............. water for the future.

(a) Preserve (b) Reserve

(c) Conserve (d) Deserve
................. has definite shape

(a) Gas (b) Solid

(¢) Liquid (d) All of these
The amount of space a thing occupies is its............

(a) Mass (b) Weight

(c) Volume (d) Matter
Which of these is soluble in water ?

(a) Tea leaves (b) Sugar

(c) Salt (d) Both b and ¢
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62.
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69.

70.

71.

72.

73.

74.

Solvent + Solute = ................

(a) Filtrate (b) Filter

(c) Solution (d) Sediment

Oil and water do not mix thus, they are.........

(a) Solutions (b) Miscible Liquids
(c) Immiscible liquids (d) Solvent and solute
Soil is made up of..........

(a) Rocks (b) Clay

(c) Organic matter (d) All of these
What is responsible for the formation of fertile soil ?

(a) Weathering (b) Microbes

(c) Ram (d) Sun

Top soil is dark in colour as..........

(a) It has many rocks in it (b)
(c) It contains humus (d)
............... is home to many creatures

It is rich in minerals
It has many dead organisms

(a) Top soil (b) Subsoil

(c) Bed rock (d) Humus

Which is not good for the soil ?

(a) Afforestation (b) Deforestation

(c) Reforestation (d) All of these

Silt is rich in...................

(a) Salts (b) Sugar

(¢) Humus (d) Minerals
Afforestation will

(a) Stop soil erosion (b) Create more land for farming
(c) Create more green cover for the earth (d) Both a and ¢
The earth is made up of layers of ......... thickness.

(a) Same (b) Unequal

(c) Moderate (d) Average

Name a bird that makes its nest in a burrow in the soil.

(a) Sparrow (b) Kingfisher

(c) Crane (d) owl

Bedrock consists of.........

(a) Only pebbles and broken rocks (b) Only loamy soil
(¢) Only sand (d) Only humus

The star nearest to the earth is.......

(a) polaris (b) the Sun

(c) alpha centauri (d) Proxima Centauri
The solar system is made up of.......

(a) the sun (b) the planets and moons
(c) the stars (d) both a and b

[22]



75.  Which of these is an inner planet ?

(a) Jupiter (b) Mars

(¢) Uranus (d) Pluto
76.  Which of the following is called as the blue planet ?

(a) Earth (b) Venus

(c) Saturn (d) Jupiter
77. The earth rotates from..........

(a) east to west (b) north to south

(c) south to north (d) west to east
78.  Which plant is called the "Evening Star" ?

(a) Jupiter (b) Mars

(¢) Venus (d) Pluto
79. Name the Planet nearest to the sun.

(a) Mars (b) Mercury

(c) Pluto (d) Neptune
80. What keeps the solar system together ?

(@) The sun's heat (b) The orbits of the planet

(c) The gravitational pull of the sun (d) The rotation of each planet

ANSWER - KEY

1. C 2. b 3. C 4. d 5. b 6. C 7. a
8. C 9. b 10. ¢ 11. d 12. a 13. ¢ 4. a
15. b 16. d 17. b 18. ¢ 19. ¢ 20. ¢ 21. b
22. a 23. d 24, a 25. ¢ 26. d 27. d 28. a
29. d 30. b 31,  d 3. b 33. a 34. ¢ 35. a
36. ¢ 37. b 38. d 39. d 40. b 41. d 42. b
43, ¢ 4. d 45. b 46. a 47. d 48. b 49. a
50. ¢ 51.  d 52. d 53. d 54. b 55. ¢ 56. a
57. C 58. b 59. C 60. d 61. C 62. C 63. d
64. b 65. ¢ 66. a 67. b 68. d 69. d 70. a
71. b 72. a 73. b 74. d 75. b 76. a 77. d
78. C 79. b 80. C
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SOCIAL STUDIES

SYLLABUS

L

<<zZEFE

Governing Ourselves

(a) Governing authorities
(b) Goal, Right and Duties
(c) National Symbol
Transport and Communication
Our Resources

Our Country

Life of the People

Maps and Grids

What is the maximum numbers of members that Lok Sabha can have ?

(@ 250 (b) 545

(c) 552 (d) 555

Who selects the council of ministers in the Central Government ?

(a) Prime Minister (b) Chief Minister

(c) Governor (d) President

The President of the Constituent Assembly was :

(a) Dr. Ambedkar (b) Jawahar Lal Nehru
(c) Dr. Rajendra Prasad (d) None of these

How many fundamental duties have been assigned to a citizen ?

(@ 7 (b)y 6

(c) 8 d 11

The executive head of Government in India

(@) The Prime Minister (b) The Army Chief
(c) The President (d) The Naval Chief
The Constitution of India was adopted on :

(@ 2nd Oct, 1950 (b) 15th August, 1947
(c) 26th Jan, 1950 (d) 26th Jan, 1947

The National Anthem 'Jan gan man' was originally written in the ............
(a) Bengali (b) Hindi

(c) English (d) Sanskrit

Our National song Vande Mataram was composed by :

(a) Rabindranath Tagore (b) Bankim Chandra Chatterjee
(c) Subhash Chandra Bose (d) Bismil Khan

Our National Anthem was written by-

(a) Bankim Chandra Chaterjee (b) Rabindranath Tagore
(c) Bisimil Khan (d) None of these
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

The Chairman of the drafting committee of the Constitution of India was :

(a) Dr. B.R. Ambedkar (b) Dr. Rajendra Prasad
(c) Pt. Jawaharlal Nehru (d) Lal Bhadur Shastri
Respecting the national flag and the national anthem is a :

(a) Fundamental right (b) Fundamental duty
(c) Directive principle (d) None of these
............... is a symbol of hard work.

(a) Tiger (b) Peacock

(c) Bul (d) Lion

In our National Emblem, we can see ............... lions

(a) Two (b) Three

(c) Four (d) five

"Satyamev Jayate" means :

(a) Truth and victory triumphs (b) Truth and courage
(c) Sacrifice along triumphs (d) Truth alone triumphs
The Ashoka chakra has :

(a) 20 spokes (b) 30 spokes

(c) 24 Spokes (d) 36 Spokes

The base of the emblem on our National Flag has the pictures of :

(a) lion and horse (b) horse and bull

(c) bull and camel (d) elephant and lion
What does the white colour in our National Flag symbolize ?

(a) Power (b) Sacrifice

(c) Peace (d) Prosperity

Sarnath Pillar which was built by Samrat Ashoka is in

(a) Lucknow (b) Varanasi

(c) Agra (d) Kanpur

Which of the following ports is located on the bank of a river :

(a) Kandla (b) Chennai

(c) Kolkata (d) Mumbai

The first train ran between :

(a) Delhi & Mumbai (b) Mumbai & Thane
(c) Thane & Goa (d) Mumbai & Kolkata
Recently India Post stopped which of the traditional communication medium
(a) Registered Post (b) Speed Post

(c) Telegraph (d) Air mail

Which of the following state has largest length of Metalic Road

(a) Maharastra (b) Uttar Pradesh

(c) Delhi (d) Karnataka

[25]
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24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

Which of the following pair is wrong.

(a) Chatrapati Shivaji Airport Mumbai

(b) Subhash Chandra Bose International Airport -
(¢) Meenambekam-Kochi

(d) Indira Gandhi International Airport - Delhi
Which of the following pair of sea ports is correct

Kolkata

Cochin Port : Andhra Pradesh
New Mangalore Port : Maharastra

Chandigarh- Agra
Mumbai- Kolkata

State Capitals
Villages of India

Private Index Number
Postal Index Number

International Subscriber Dialling
International Subscriber Data

Weekly
Telephone

Films
Computer

Xerox
Sms

Seven
Five

Gold

Solar Energy
in red soil.
Coffee, rubbers
Spices Maize

Fertilizers

(@) Mumbai Port : Goa (b)
(c) Chennai Port : Tamil Nadu (d)
The longest railway route lies between :

(@) Udhampur - Kanyakumari (b)
(c) Delhi- Chennai (d)
National Highways connects all states with ............
(a) The National Capital (b)
(c) District Headquarters (d)
What does PIN Stands for :

(a) Personal Index Number (b)
(c) Permanent Index Number (d)
The full form of ISD is :

(a) Indian Subscriber Dialling (b)
(c) Instant Subscriber Dialing (d)
Which one of the following is a personal communication :
(a) Newspaper (b)
(c) Radio (d)
India is the largest producer of :

(a) Mobile Phone (b)
(c) Books (d)
Letters that we send through the internet is called :
(a) Fax (b)
(c) E- Mail (d)
How many digits are there in postal pincode ?

(@) Six (b)
(c) Eight (d
Which of these are renewable resources ?

(a) Fossil Fuels (b)
(c) Water (d)
We can grow crops such as.............. and..........
(a) Sugarcane, cotton (b)
(¢) Rice, Pulse (d)
Laterite soil can be made fertile by adding :

(a) Humus (b)
(¢) Volcanic rocks (d)

[26]
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Black soil in India is mainly found in :
(a) Northern plains (b) Deccan plateau

(c) Mountain regions (d) Desert regions

37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

47.

48.

Which of the following soil is known as cotton soil ?

(@) Yellow soil (b) Red soil

(c) Alluvial soil (d) Black soil

Which of the following is a Rabi crop ?

(a) Wheat (b) Sugar cane

(¢) Gram (d) All of these

Fruit Production on a large scale is known as :

(a) Pisciculture (b) Sericulture

(c) Agriculture (d) Horticulture

Which of the following match is wrong ?

(a) Manas-Assam (b) Bandipur- Haryana

(c) Sariska-Rajasthan (d)

In which state is the Gir National Park located ?

Kanha — Madhya Pradesh

(a) West Bengal (b) Gujarat

(c) Assam (d) Madhya Pradesh
Name the plateau of Jharkhand region.

(a) Deccan (b) Chotanagpur

(c) Kkhasi (d) Rajmahal

Which one of the following is a private sector industry ?

(a) Bhilai steel plant
(c) Vishakhapatnam steel platn

(b)
(d)
Bhakra Nagal dam is on the river :

Tata iron and steel plant
Salem steel plant

(a) Indus (b) Satlej

(c) Ganga (d) Brahampurta
The Yamuna is the tributary of the :

(a) Indus (b) Satlej

(¢) Ganga (d) Brahamputra
India is the world's largest producer of :

(a) Copper (b) Mica

(c) Iron (d) Magnese
Which is also called as "black-diamond" ?

(a) Diamond (b) Gold

(c) Copper (d) Coal
Aluminium is obtained from :

(a) Bauxite (b) Lead

(c) Tn (d) Copper
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52.

53.
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55.
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57.

58.

59.

60.

61.

62.

It is used in the element of on electric iron :

(a) Gold (b) Mica

(¢c) Iron (d) Silver

The largest producer of manganese is :

(a) Haryana (b) Punjab

(c) Odisha (d) Kerala

Which of the following is an "oil field" ?

(a) Bombay high (b) Durgapur

(c) Kochi (d) Baroda (Vadodara)
It is an example of non metallic mineral.

(a) Lead (b) Copper

(c) Limestone (d) Silver

Water body that separates India from Sri Lanka :

(a) Mediterranean sea (b) Panama isthumus
(c) Red sea (d) Palk strait
Population wise India is the .................. largest country of the world.
(a) Second (b) Third

(c) Seventh (d) Ninth

India is a part of.................. continent.

(a) Europe (b) Asia

(c) Australia (d) Africa

Which of the following pairs is correct ?

(a) Tenzing Norgay - Bhutan (b) Edmund Hillary — New Zealand
(c) Bachendri Pal — U.K (d) None of these

The Brahmaputra river is known as............. is Tibet.

(a) Sonpari (b) Damodar

(c) Padma (d) Tsangpo

Which of the following is the oldest mountain range of the World ?
(a) Himalayas (b) Jaintia

(c) Alps (d) Aravallis

The Thar desert is also known as :

(a) Palm desert (b) The Great Indian desert
(c) Western desert (d) None of these
Khan Abdul Gaffar Khan is also known as :

(a) Mahatma Gandhi (b) Bal Gangadhar Tilak
(c) Frontier Gandhi (d) None of these
Name the harvest festival of Tamil Nadu.

(a) Pongal (b) Onam

(c) Baisakhi (d) Bihu

People sing "Ramdhun" on :

(a) Gandhi Jayanti (b) Independence day
(c) Republic day (d) Vijay Dashmi
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71.
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73.

74.

75.

76.

"Garba" is the folk dance of :
(a) Nagaland
(c) Gujarat

(b)
(d)

Language which is written from right to left is :

Assam
Odisha

(a) Bengali (b) Urdu

(c) French (d) Sanskrit

The painting in Ajanta Caves depict the life of :

(a) Buddha (b) Mahavira

(c) Ashoka (d) Akbar

M.F. Husain was a famous :

(a) Artist (b)  Writer

(c) Architect (d) Musician

The popular flok dance "Nati" is of :

(a) Mabharashtra (b) Himachal Pradesh

(c) Gujarat
............. is the father of cartography

(d)

Assam

(a) Karl Max (b) Ritter

(c) Marco Polo (d) Ptolemy

0° (Zero degree) longitude passes through.

(a) Chennai (b) Greenwich

(c) Equator (d) None of these

It is the longest latitude

(a) Tropic of cancer

(¢) Greenwich

Which of the following pair is wrong ?

(b)
(d)

Equator
None of these

(a) Tropic of Cancer — 23 2° N (b) South Pole — 90° N
(c) Tropic of Capricorn — 23 5° S (d) Equator- 0° N/S
The Tropic of Cancer is in the .............. hemisphere.

(a) Northern (b) Southern

(c) Both (d) None of these
Prime Meridian passes through Greenwich i.e. near

(a) London (b) Paris

(c) Japan (d) Russia

The meridian of Jaipur is

(@) 750° E (b) 750° W

(c) 750° N (d) 750° S

Which is intermediate direction ?

(a) East (b) West

(c) North East (d) North

Which of the following statement regarding the globe is incorrect ?

It is true model of the Earth
It represents true shape of the earth

(@)
©

(b) It shows each village of rural India
(d) Big globe cannot handle easily

[29]



77.

78.

79.

80.

81.
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85.
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87.

88.

&9.

90.

On which map we can show rainfall weather, population distribution and road network.

(a) Political map
(c) Thematic map

Assamese women wear a long skirt called

(a) Baka
(c) Phiran

The official Language of Tamil Nadu is

(a) Bangla
(c) Malayalam

Who spearheaded the movement to abolish the Sati system in India ?

(@) Swami Vivekanand
(c) Dayanand Saraswati

Who was a great social reformer from Bengal ?

(@) Homi J- Bhabha
(c) Ramabai Ranade

....................... built the city of Fatehpur Sikri

(a) Ashoka
(c) Akbar

Who spread his message through "dohas" and "bhajans" ?

(a) Kabir

(c) Adi Shankaracharya
Sant Kabir was against .
(a) Dowry

(c) Sati

Mohiniattam is a classical dance form of :

(a) Tamil Nadu
(¢) Kerala

People living in Lakshadweep islands speak :

(a) Malayalam

(c) Tamil

"Kavaratti" is the capital of :
(a) Lakshadweep

(¢) Goa

The state of "Telangana" has been formed out of :

(@) Andhra Pradesh
(¢) Karnataka

It is famous for its Jaganath temple and its Rath-yatra

(a) Panna
(c) Udaipur

The Arabic word "Mausam" refers to the :

(a) Movement of the wind
(c) The Arbian sea wind

(b) Physical map

(d) None of these

(b) Mephla

(d) Lehnga

(b) Tamil

(d) Telugu

(b) Raja Ram Mohan Roy
(d) Gautam Buddha

(b) Jagdish Chandra Bose
(d) Raja Ram Mohan Roy
(b) Shahjahan

(d) Jahangir

(b) Mahavir

(d) Tulsidas

(b) Caste system

(d) Child-marriage

(b) Andhra Pradesh

(d) Goa

(b) Nicobarese

(d) Telugu

(b) Andman and Nicobar
(d) Karnataka

(b) Tamil Nadu

(d) Kerala

(b) Puri

(d) Kanyakumari

(b) Seasonal reversal of the wind

(d)
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ANSWER - KEY

1. C 2. a 3. C 4. d 5. C 6. C 7. a
8. b 9. b 10. a 11. b 12. ¢ 13. b 14. d
15. ¢ 16. b 17. ¢ 18. b 19. ¢ 20 b 21. ¢
22. b 23. ¢ 24. ¢ 25. a 26. a 27. d 28. b
29. d 30. b 3. ¢ 32. a 33. d 34. ¢ 35. b
36. b 37. d 38. d 39. d 40. b 41. b 42. b
43. b 44. b 45. ¢ 46. b 47. d 48. a 49. b
50. C 51. a 52. C 53. d 54. a 55. b 56. b
57. d 58. d 59. b 60. C 61. a 62. a 63. C
64. b 65. a 66. a 67. b 68. d 69. b 70. b
71. b 72. a 73. a 74. a 75. C 76. b 77. C
78. b 79. b 80. b 8l. d 82. ¢ 83. a 84. b
85. C 86. a 87. a 88. a 89. b 90. b
GENERAL KNOWLEDGE

SYLLABUS
1. National Heritage
2. Plant and Animal Kingdom
3.  Literature and Culture
4. The World Around Us
5. Sports and Entertainment
6. Women
7. Current Affairs
8. Health Issues
1.  Madhya Pradesh is famous for :

(a) Khujraho temples and diamond mine

(b) Amarnath temple and coal mine

(¢) Vaishno Devi and coal mine

(d) None of these
2. Which Indian state has the lowest population ?

(a) Uttar Pradesh (b) Jammu and Kashmir

(¢) Goa (d) Sikkim
3. Which of the following does not belong to Rajasthan ?

(a) Sanchi Stupa (b) Mt. Abu

(c) Pink city (d) City of Lakes
4. Which city does not belong to Uttar Pradesh ?

(a) Mathura (b) Agra

(c) Udaipur (d) Kanpur
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11.

12.

13.

14.

15.

16.

17.

18.

Srinagar city is situated on the bank of the river :

(a) Jhelum (b) Ravi

(c) Beas (d) Satlej

In which state the hill station "Shimla" is situated :

(a) Uttarakhand (b) Meghalaya

(c) Himachal Pradesh (d) None of these

In which state the hill station "Gulmarg" is situated :

(a) Himachal Pradesh (b) Uttarakhand

(¢) Jammu & Kashmir (d) Meghalaya
Firozabad is associated with the industry of :

(a) leather shoes (b) glass bangles

(c) cotton textiles' (d) silk sarees
Bangalore is associated with the industry of :

(a) Ship building (b) Air craft

(c) Iron and steel (d) Carpets

Brass goods industry is associated with the city :

(a) Varanasi (b) Ludhiana

(c) Moradabad (d) Aligarh

The birth place of "Guru Nanak" is :

(a) Amritsar (b) Talwandi

(c) Patiala (d) Gurdaspur
Lumbini is the birth place of :

(a) Buddha (b) Mahavira

(c) Parswanath (d) Neminath

Who said these famous words — Freedom is my birth right and I shall- have it ?
(a) Lala Lajpat Rai (b) Balgangadhar Tilak
(c) Maulana Azad (d) Subhash Chandra Bose
Coffee is grown in ...................

(a) Satpura hills (b) Nilgiri hills

(c) The Himalayas (d) Assam hills
Bokaro steel plant is in .........c..........

(a) Jharkhand (b) Rajasthan

(c) Chattisgarh (d) Odisha

Bhynder valley also known as the "valley of flowers" is in ..................
(a) Himachal Pradesh (b) Uttarakhand

(¢) Jammu & Kashmir (d) Punjab

The States of Uttarakhand, Uttar Pradesh and Bihar share a common International boundary with
(a) Nepal (b) Myanmar

(c) Pakistan (d) Bhutan

Ajanta and Ellora caves are in :

(a) Gujarat (b) Maharashtra

(c) Madhya Pradesh (d)
[32]
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23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

The hill station "Pachmarhi" is in :

(a) Odisha (b) Rajasthan

(c) Madhya Pradesh (d) Kerala

Which of these lakes is not in Jammu & Kashmir ?

(a) Dal Lake (b) Chilika Lake
(c) Waular Lake (d) None of these
The tree from the seeds of which we get our chocolates is :

(a) Cocoa (b) Coconut

(c) Tea (d) Venilla

The hills in North Eastern India are normally named after

(a) Godess (b) Tribes

(c) National Leaders (d) Rivers

I am always busy :

(a) Germs (b) Ant

(c) Honey Bee (d) Housefly

I am known as the river horse :

(a) Dolphin (b) Rhinoceros

(c) Hippopotamus (d) Donkey

I love eating bamboo

(a) Kola Bear (b) Elephant

(c) Monkey (d) Horse

Which is known as the "land of spices" ?

(a) Kerala (b) TamilNadu

(c) Assam (d) Andhra Pradesh
The World's most expensive spice is :

(a) Clove (b) Saffron

(c) Cardamom (d) Cumin
Santhali is the tribal population belong to

(a) Assam (b) Jammu & Kashmir
(c) Jharkhand (d) Kerala

The only woman Prime Minister of Pakistan :

(a) Khaleda Zia (b) Benazir Bhutto
(c) Sheikh Hasina (d) None of these
She is an Indian and the first woman President of UN.

(a) Vijay Lakshmi Pandit (b) Pratibha Patil
(c) Indira Gandhi (d) None of these
The author of the book "David Copperfield" is :

(a) Mark Twain (b) Charles Dickens
(c) Jonathan Swift (d) Daniel Defoe
"Jungle Book" is written by

(a) Lewis Caroll (b) R.K. Narayan
(¢) Rudyard Kipling (d) None of these
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33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

Who wrote Mahabharata :

(a) Tulsidas (b) Valmiki

(c) Kabir (d) Vedvyas

The famous book of Mahatma Gandhiji is :

(a) My experiments with truth (b) Malgudi days
(c) Discovery of India (d) None of these
The writer who created the famous "Five and Noddy" two series Popular with children
(a) Evid Blyton (b) Lewis caroll
(c) Mark Twain (d) None of these
The famous cartoonist who started an international children's painting competition .
(a) Charlie Chaplin (b) R.K. Laxman
(c) Keshav Shankar Pillai (d) None of these
Arundhati Roy is a famous :

(a) Actress (b) Dancer

(c) Cartoonist (d) Novelist
Gangaur is a popular folk dance of :

(a) Punjab (b) Gujarat

(c) Rajasthan (d) Bihar

In which state did the classical dance "Bharatnatyam" Originate :
(a) Kerala (b) Tamil Nadu
(c) Karnataka (d) West Bengal
He wrote "The Wealth of Nations" He is known as the father of modern economics
(a) Plato (b) Adam Smith
(c) Auristotle (d) None of these
The largest city in the world is :

(a) Tokyo (b) New York

(c) Korea (d) None

The tallest building in the world is :

(a) Burj Khalifa (b) Eiffel Tower
(c) Leaning Tower of Pisa : (d) None

The smallest ocean of the world is :

(a) Antarctic Ocean (b) Arctic Ocean
(c) Indian Ocean (d) None

The largest railway in the world :

(a) Trans Siberian (b) Trans Africa
(c) Trans Bombay (d) None

The longest river in the world is :

(a) Amazon (b) Nile

(c) Ganga (d) None

The wettest place in the world is :

(a) Mawsynram (b) Atacama

(c) Xinjiang (d) None

[34]



47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

The currency of France is :

(a) Yen (b) Euro

(c) Riyal (d) Peso

The currency of Indonesia is :

(a) Rupieah (b) Taka

(c) Dinar (d) Rupee

Which is called the Roof of the world?

(a) Japan (b) China

(c) Tibet (d) Canada

Who was the first person to reach South Pole :

(a) Ronald Amudsen (b) Alexey Lconov
(c) Christian Barnard (d) Dennis Tito
She is a famous pop singer and the daughter of Pt. Ravi Shanker :
(a) Mozart (b) Norah Johnes
(c) Vishwa Mohan Bhatt (d) None

She is Western pop singer and sister of Michael Jackson :

(a) Mischel Jackson (b) James Jackson
(c) Janet Jackson (d) None of these
He was a great play back singer,comic actor, producer and director :
(a) Kishore Kumar (b) Mukesh

(c) Anoop Kumar (d) None of these
Which sport is played on the largest pitch ?

(a) Cricket (b) Polo

(c) Hockey (d) Football

Table Tennis is also Known as :

(a) Ping Pong (b) Baseball

(c) Bull's eyes (d) None of these
"Mike Tyson" is associated with:

(a) Football (b) Boxing

(c) Athletics (d) None

The cricket player "lan Botham" belong to which country ?

(a) West Indies (b) New Zealand
(c) South Africa (d) England
Michael Fereira is accociate with :

(a) Badmintan (b) Lawn Tennis
(c) Billiards (d) Athletics
"Birju Maharaj" is associated with which field of entertainment :
(a) Kathak Dancer (b) Bharatnatyam Dancer
(c) Kuchipudi Dancer (d) None

Thillana is a format of .......................

(a) Bharatnatyam (b) Odissi

(c) Manipuri (d) Kathak
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

15.
22.
29.
36.
43.
50.
57.
64.

With which game is "Ranjhi Trophy" associated :

(a) Football (b) Hockey

(c) Cricket (d) Table Tennis

Which Musical instrument did Pandit Vishwa Mohan Bhatt :

(a) Sitar (b) Jal-tarang

(c) Mohan Veena (d) Tabla

Name the character for the man who made all the mice leave the town Hamlin :
(a) The Pied Piper (b) Penocchio

(¢) Cindrella (d) None

Name the popular cleanliness campaign created by the Government of India

(a) Swacch Bharat Abhiyan (b) Clean India Drive

(c) Swacch India (d) Nirmal India

Which Airport became India's first completely run by Solar Power

(a) Mangaluru International Airport (b) Kochi International Airport

(c) IGI Airport New Delhi (d) Chatrapati Shivaji International Airport
A popular Industrial City Gurgaon has been renamed as Gurugram; This city is in which state?
(a) Uttar Pradesh (b) Haryana

(c) Uttarakhand (d) Punjab

India's First 'White Tiger Safari' has been recently opened i ....................

(a) Uttar Pradesh (b) Gujarat

(c) Madhya Pradesh (d) Maharastra

Swine flu is caused by ?

(a) Virus (b) Bacteria

(c) Hens (d) Swines

Which organ does hepititis affect ?

(a) Lungs (b) Liver

(c) Heart (d) Brain

Tubercuosis is caused by

(a) Bacteria (b) Virus

(c) Mosquitos (d) Protozoa

ANSWER - KEY

a 2. d 3. a 4. C 5. a 6. C 7. c
b 9. b 10. ¢ 11. b 12. a 13. b 14. b
a 16. b 17. a 18. b 19. ¢ 20 b 21. a
b 23. c 24, c 25. b 26. a 217. b 28. C
b 30, a 3. b 32. ¢ 33. d 34, a 35. a
b 37. d 38. ¢ 39. b 40. b 41. a 42. a
b 44. a 45. b 46. a 47. b 48. a 49. ¢
a 51. b 52. C 53. a 54. b 55. a 56. b
d 58. C 59. a 60. a 61. C 62. b 63. a
a 65. b 66. b 67. C 68. a 69. b 70. a
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PART -B (SUBJECTIVE TYPE)
PARAGRAPH WRITING

Read The instructions carefully

*  You are required to write a paragraph on any of the given topics

*  Paragraph should not exceed 75 words

*  The paragraph should be written in the space provided in the answer book

* It is compulsory to attempt both the sections

*  Part B is considered only when your score in Part A (objective Type) is above 90%.
Topics

1. Climate change

2. Importance ot torests
3. Environmental pollution
4. Importance of water
5. Tuberculosis (TB)
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KNEUS SCHOLASTIC APTITUDE TEST CLASS V
Model Question Paper

Kindly follow the instructions

*  Verify your Roll Number, School Code and other details before you start answering

»  This question paper contains 80 questions in Part A . Each question is followed by a series of choices
or possible answers. Choose any one option which you feel is correct.

» All questions carry equal marks. There is no negative marking for wrong answers.

*  There is a Paragraph writing in Part B. No evaluation will be made if Part B is unattempted.
Thus Both the sections are to be compulsorily attempted.However part B
is considered only when a student secures more than 90% in Part A Objective type

* Tryto answer every question. Your test score will be based on the number of questions you answer
correctly.

»  Please attempt Part B in the space provided in the test booklet or any other medium which is specified

» use either blue or black pen for shading the OMR.

*  Please do not mark anything on the OMR sheet other than shading portion to mark your answers

» shade only one answer for each question. Double shading are scored as wrong answers.

»  Keep your answer sheets on a hard surface while answering. Do not fold or crease your answer sheet.

* Do not scribble on the answer book.

*  For rough work use the plain sheet given at the end of the book.

*  When you finish your test, iftime permits, you may re check your work.

Sample Procedure for answering the question
Who is remembered as the missile man of India?
A. Mr. Narendra Modi B. Dr. Manmohan Singh
C. Dr. Pranab Mukherjee D. Smt Pratibha Patil

E. Dr. APJ Abdul Kalam

Correct Way Don’t do this way

[A] [B] [C] [ D] [mese [A] [B] [C] [ D] [¥]
[A] [B] [C] [ D] [X]
[A] [B] [C] [D][®]
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Part A (Objective Type)

Fill in the blanks with suitable nouns :

................... is the hardest substance.

(a) diamonds (b)
(c) plastic (d)
(e) gold

A group of sailors...................

(@ jury (b
(c) crew (d)
(e) group

silver

diamond

bunch
herd

Fill in the blanks with suitable pronouns given below :

Our teacher teaches . ............

(@ me (b)
(c) you (d
(e) his

............ is the man who sells balloons.

(a) this (b)
(c) these (d)
(e) them

Tick the verb in the following sentences
My mother.................... a new sari.

(a) has (b)
(c) will have (d)
(e) none of these

Birds....................

(a) chirp (b)
© play C)

(e) none of these

she

they

those

have
will had

cries
shouted

Fill in the blanks with suitable Adjectives which is given below :

Brutusisaman of....................

(a) humorous (b)
(c) honour (d)
(e) none of these

Pizzaisa.................... dish.

(a) delicous (b)
(c) hot (d)

(e) none of these
[39]

tear

fearlessness

sour

rich



10.

11.

12.

13.

14.

15.

Choose the correct adverbs to complete the following :

Tick the sentences which has adverbs of place :

(a) The boys are going outdoor to play.  (b) She rarely meets me.
(c) we must get up early. (d) She speaks quietly.

(e) none of these

Fill in the blanks with appropriate prepositions.

I have been ill.................... two weeks.

(a) for (b) an

(c) within (d by

(e) since

I have not seen him.................... last month.

(a) from (b) since
(c) before (d) beside
(e) for

Fill in the blanks with suitable conjunctions.

We had bread.................... butter for breakfast.

(a) but (b) and

(c) as (d) therefore
(e) so

Make hay.................... the Sun shines

(a) stil (b) while

(c) and (d) elsewhere
(e) but

Read the following sentences and insert suitable interjections.

(a) What (b) Bravo
(¢) Ouch (d) Alas

(e) none of these

Fill in the blanks with appropriate Articles.

.................... rose is the most beautiful flower.

(a) The by A

(c) An (d) All of above
(¢) None of these
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16.

17.

18.

19.

20.

21.

22.

23.

24.

Find out synonyms for the words in capital letters

Raman could not purchase the shirt because of INADEQUATE funds.

(a) insufficient (b)
(c) litle (d)
(¢) more

.................... is the successor of 49999

How many different three digit numbers can be formed using digits 6, 5 and 7 only once ?

(@) 49998 (b)
(c) 5000 (d)
(e) 10000

(@ 3 (b)
() 5 (d
(e) 2

97 thousands 4 tens is equal to...............

(@ 974 (b)
(c) 97040 (d)
(e) 97

XL — i, = XXXVI

(@) VI (b)
) V (d
(e) XXI

Which of the following is meaning less ?

(@) XX (b)
(c) VI (d

(e) none of these

Which of the following is equal to 1 ?

(@ 1/3 (b)
(c) 6/3 (d)
(e) none of these

Which of the following is wrong ?

(@ 5/10 =0.5 (b)
(c) 1/5=02 (d)
(e) none of these

3.56 correct to the nearest whole number is.......

(@ 3 (b)
© 5 (d)
@€ 30

adequate

enough

4998
50000

4
6

9740
974000

<

< 3

4/8
5/5

72 = 0.5
3/4=0.7



25.

26.

27.

28.

29.

30.

31.

32.

33.

In 1 ton, there are........kg.

(@) 100 (b) 1000

(c) 500 (d) 10000
(e) none of these

How many line segments are needed to make alphabet M ?

(@ 2 b) 3
(c 4 (d 5
() 8

The perimeter of a triangle is the sum of the length of its...........

@@ 2 (b) 3

(c) 4 d 5

(e) 7

Perimeter of a triangle having sides a, b and c is :

(a) abc (b) a+ bc
(c) 2 abc d a+b+c
(e) none of these

84 LXXIV

(@ > (b) <

(c) = d <

(e) none of these
How many tenths are there in 11/5 ?

(a) 5 tenths (b) 2 x5 tenths
1
(c) 2§tenths (d) 20 tenths

(e) none of these

We measure the weight of a cow in............

(a) grams (b) Kilograms
(c) litres (d) Metres
(e) none of these

SQUARE is a rectangle whose :

(a) all sides are equal (b) two sides are equal
(c) three sides are equal (d) four sides are equal
(e) none of these

Sunlight is @............cooeeeeni. thing.

(a) Natural living (b) Attificial living

(c) Natural non-living (d) Non-living

() None of these
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34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

Desert plants have................. instead of leaves.

(a) Spines (b) Tiny flowers
(c) Longer stems (d) Clumpy roots
(¢) None of these

I am a amphibian. I live in both water and on land. I lay my eggs in water. My baby looks very

different from me. Who am I ?

(a) Sea Lion (b) Crocodile
() Frog (d) Allgator
(e) Lion

Why do ripe fruit taste sweet ?

(a) They grow on sweet plants. (b) Sugar is added to it by farmers.

(c) The glucose produced by plants is stored in them
(d) Bees pollinate them and make them sweet.

() None of these

The front part of the birds trunk is called its........

(a) Breast (b) Feathers
() Wings (d) Back
(e) Legs

................ helps to maintain our body temperature.

(a) Water (b) Tron

(c) Calcium (d) Todine

() None of these
Which of the following is not a rich source of proteins ?

(a) Eggs (b) Meat

(c) Pulses (d) Rice

() Wheat

Which of the following is not an organ of the human body?
(a) Stomach (b) Heart

(c) Blood (d) Kidney

() None of these
We should get a dental check up done once in.............

(a) A month (b) Every 3 month
(c) Every six month (d) A year

(e) Everyday

Indentify the method of removal of impurities :

(a) Sedimentation (b) Filtration

(c) Distillation (d) Purification

() None of these

Soil is made up of..........

(a) Rocks (b) Clay

(c) Organic matter (d) All of these
() None of these

[43 ]



44,

45.

46.

47.

48.

49.

50.

51.

52.

53.

Bedrock consists of.........

(a) Only pebbles and broken rocks (b) Only loamy soil
(¢) Only sand (d) Only humus

(e) All of these

From where do plants get their energy ?

(a) Sunlight (b) Food

(c) Water (d) oxygen

(e) Sea

How many types of vitamins are there ?

(@ 6 (b)y 5

(c) 7 d 4

(e) 8

Deficiency of iron can result in...............

(a) Rickets (b) Anemia

(c) Obesity (d) Cholera

(e) Fever

Which of these is an inner planet ?

(a) Jupiter (b) Mars

(¢) Uranus (d) Pluto

(e) Saturn

The National Anthem 'Jan gan man' was originally written in the ............
(a) Bangla (b) Hindi

(c) English (d) Sanskrit

(e) Pali

Which one of the following is a private sector industry ?

(a) Bhilai steel plant (b) Tata iron and steel plant
(c) Vishakhapatnam steel platn (d) Salem steel plant
(e) HAL

The Tropic of Cancer is in the .............. hemisphere.

(a) Northern (b) Southern

(c) Botha &b (d) Western

(e) Easten

It is famous for its Jaganath temple and its Rath-yatra

(a) Panna (b) Puri

(c) Udaipur (d) Kanyakumari

(¢) Amarnath

What is the maximum numbers of members that Lok Sabha can have ?
(@) 250 (b) 545

(c) 552 (d) 555

(e) 600
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54.

55.

56.

57.

58.

59.

60.

61.

62.

Our National song Vande Mataram was composed by :

(a) Rabindranath Tagore (b) Bankim Chandra Chatterjee
(c) Subhash Chandra Bose (d) Bismil Khan

() None of these

Sarnath Pillar which was built by Samrat Ashoka is

(a) Lucknow (b) Varanasi
(c) Agra (d) Kanpur
(e) Bhopal

Which of the following pair is wrong.

(a) Chatrapati Shivaji Airport Mumbai

(b) Subhash Chandra Bose International Airport - Kolkata
(¢) Meenambekam-Kochi

(d) Indira Gandhi International Airport - Delhi

() None of these

The official airline of our country is :

(a) Air India (b) King Fisher
(c) Air Sahara (d) Indigo

(e) Air Asia

Which of the following soil is known as cotton soil ?

(a) Yellow soil (b) Red soil
(c) Alluvial soil (d) Black soil

(¢) None of these

Fruit Production on a large scale is known as :

(a) Pisciculture (b) Sericulture
(c) Agriculture (d) Horticulture
() None of these

Which of the following is an "oil field" ?

(a) Bombay high (b) Durgapur

(c) Kochi (d) Baroda (Vadodara)
() Mangalore

Population wise India is the .................. largest country of the world.
(a) Second (b) Third

(c) Seventh (d) Ninth

(e) First

With which game is "Ranjhi Trophy" associated :

(a) Football (b) Hockey

(c) Cricket (d) Table Tennis

() Rugby
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63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

0° (Zero degree) longitude passes through.

(@) Chennai (b)
(c) Equator (d)
(e) Tropic of Cancer

Which is intermediate direction ?

(a) East (b)
(c) North East (d)
() None of these

Which city does not belong to Uttar Pradesh ?
(a) Mathura (b)
(c) Udaipur (d)
(e) Firozabad

Bangalore is associated with the industry of :

(a) Ship building (b)
(c) Iron and steel (d)
(e) All of these

Greenwich

Tropic of Capricorn

West
North

Agra
Kanpur

Air craft
Carpets

The tree from the seeds of which we get our chocolates is :

(a) Cocoa (b)
(c) Tea (d)
(¢) Banana

"Jungle Book" is written by

(a) Lewis Caroll (b)
(c) Rudyard Kipling (d)
() None of these

The famous book of Mahatma Gandhiji is :

(@) My Experiments with Truth (b)
(c) Discovery of India (d)
(¢) None of these

The smallest ocean of the world is :

(a) Antarctic Ocean (b)
(c) Indian Ocean (d)
(¢) None of these

He was a great play back singer, comic actor, producer and director :

(a) Kishore Kumar (b)
(c) Anoop Kumar (d)
(¢) None of these

With which game is "Ranjhi Trophy" associated :
(a) Football (b)
(c) Cricket (d)
(¢) None of these
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Coconut
Venilla

R.K. Narayan
Salman Khursid

Malgudi days
Mother India

Arctic Ocean
Pacific Ocean

Mukesh

Roop Kumar Rathod

Hockey
Table Tennis



In which state devastating flood destroyed over 1200 village in the month of sep, 2014.
(a) Jammu and Kashmir (b) Sikkim

(c) Himachal Pradesh (d) Odisha

(e) Uttar Pradesh

First Indian to win "Booker Prize" :

(a) Kiran Bedi (b) Arundhati Roy

(c) Aishwarya Rai (d) Salman Khurshid

() Shashi Tharoor

She was the first woman prime minister of the world.

(a) Margaret thatcher (b) Siri Mavo Bandaranaike

(c) Indira Gandhi (d) Sheikh Hasina

() None of these

She is the daughter of a film star. Her compainging is called Balaji production.
(a) Ekta kapoor (b) Sonam kapoor

(c) Kareena Kapoor (d) Karishma Kapoor

() Shoba Kapoor

I love eating bamboo who am I ?

(a) Kola Bear (b) Elephant
(c) Monkey (d) Horse
(e) Cow

Gangaur is a popular folk dance of :

(a) Punjab (b) Gujarat
(c) Rajasthan (d) Bihar
(e) Kerala

The wettest place in the world is :

(a) Mawsynram (b) Atacama
(c) Xinjiang (d) Mexico

(¢) None of these

Who was appointed as the chairman of the 7th pay commission on 4th feb, 2014 . He is former
supreme court Justice

(a) Justice Venkatachaliah (b) Justice Ashok Kumar

(c) Justice Santhosh Hegde (d) Justice R. M. Lodha

(¢) None of these
skoskoskok
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PART - B (SUBJECTIVE TYPE)
PARAGRAPH WRITING
Instructions
Word limit of paragraph should be 75 words
Please write the paragraph in the space provided to you

Write a paragraph in the space provided on any (one) of the given topics
1. Importance of water
2. Malaria

[48 ]



Please use this speace for rough work
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